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.. La) | Write the equlvalent FORTRAN statements of the followmfr autbmetle eauauom o] 234
At ab?eer) SN R R S
D @=cos | L2 z-_lo X — ' -
) ( S J Y gm(! yU =0

1.b) | State whether the FORTRAN statements are correct or not. If not, rewrite the statement
after rectifying them. ’
D WRITE(5,15)K+M B
iy  DIMENSION AB(5),C (5x5)
i) Do I--2 10

e le) Convert the foIlowmg statement to ‘Logical —IF* structure:
IF (R) 7,17,17

1.4d) erte examples of “Implied DO- -Loop” statement and *Computed GO TO” statehert
used in F ORTRAN language. : ' . o
e

2. | Write a FORTRAN program that will take co- ordmates (x,y) of the three points in a 10
plane and determlnes area of the triangles formed by these, o '

3. | Write a FORTRAN program to find all two-digited mte_s,els that are dwwlble by 7 or 10
-11-and to-calculate-the arithmetic mean of theni; ‘ :

4. | Write a FORTRAN program that tabulates the values of the following function f(x,y) 10

' for the range of x and y as given below. .
F(x,y) =2.7x* + 0. 9xy -y

Range of x: 2.0 to 5 0 with the increment 0.5

Range of y: —1.0 to 7.0 with the increment 1.0
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5. | Wiite a FORTRAN programme that reads the elements of a matrix of size (4x6) row- 10
wise and then finds out the minimum element from the elements of 3" row and the
|| maximum element from the elements of .4“’:‘<:_o_lumn.and then calculates the average of

‘these two values.

6. Write a FORTRAN sub-programme to calculate the factorial of an integer. Using this 10 |
subprogram, write a FORTRAN program to calculate "C; using the following | |

N :
€= ri(n—r)

7.| Write a FORTRAN sub-programme that calculates the following sum of products 10
aib; + axby +asbs +... anby. Using this subprogram, write & FORTRAN program that '
calculates the following_- - _ a

2 2 L2 f2 2 ’ 2
o \/x] + Xy ot X .\fy! + Yy ety

NEROEER XV,
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1. Salve the following equation by Gauss Elimination mcthbd.'
| 3X1+H4X2-X3+6Xs = 30
5%y -3¥q =-3
w210 +2 XK= 10- - .
2X1-3X02-2X3 =-5 E
2 Solve the following equation by Newton Raphsoi Method. Find cut the 11,:;'{‘1‘{.0051'1;01 upto 3
 decimal points. Use tabular form showmg only one sampn, calculatlon Start with guess
value x=0. :
- xeX+Hn(x)- cos(x)— 1.0
B 3. - Use Newton Raphson method of two vanables to. solve the equa‘mons T
RO b +y .= 74,245 B S A
_ X -y*txy = -56.805 | oL
s ' Correct to two decimals, starting with the approximation (2.7, 4).
- 4. | Using Runge Kutta Method of order 4, find'y (0:4) giveh "‘thsitdj#d—x = w45y, y (O)= 0. Take -
h=0.2. S
5.1 - The following table gives the value of X and Y, Y being the dependent variable, Use
Lagrange’s formula to find value of Y when X = 4.6:
X - 3 [ 5 I 3
Y 25 . 450 720 950 .
6. | Write short notes (ANY TWO):
a) | Method of Bisection .
b} - Gauss Elimination Method Wit Pivctiig
- ©) | lI-Conditioned System of equations






